(r'é'“) @ International Collegiate = == == | event
D ermmationa eglate = BN =
Cod & acm Programming Contest =T sponsor

Social Holidaying

E Input: Standard Input
Output: Standard Output

“The Holiday Company” owns a large number of bungalows that
were built in the olden days to host large, or extended, families during
the holiday season. Instead of borrowing large sums of money to
renovate the bungalows to smaller sizes suitable for today's families, the
company's manager introduced the new concept of “social holidaying”.

The idea of “social holidaying” is to accommodate two and only
two families in a bungalow if the sum of sizes of the two families
exactly equals the number of available beds in the bungalow.

For example, two is the largest number of possible pairing for
a set of holiday requests by families with sizes 1, 2, 3, 5, and 5 in a
resort with bungalows of sizes 3, 6, and 10. The possible pairings
are (1 with 2) and (5 with 5).

Your task is to write a program to calculate the largest number of
possible pairings of holiday requests. The input to your program
consists of a set R of n holiday requests and a set B of m bungalow
sizes. You should assume that there are a sufficiently large number of
bungalows available for each size in B.
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Input
The input starts with an integer P (1 <P < 100), on a line by itself,
that indicates the number of problem descriptions. Each problem
description consists of three lines: The 1St line contains two
integers, n and m that represent the sizes of the sets R and B,

respectively. The 20d line contains the n family sizes in R, and the

3rd line contains the m sizes of bungalows in B. The values in each
line are separated by single spaces. 2 <n <400, and 1 <m < 100.

Output

For each problem, the output is a single line consisting of an integer
that is the maximum number of possible pairings.

Sample Input Output for the Sample Input

2 3
64 2
123445

6935

54

12345

6935
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